Thai Journal of Mathematics Volume 17 (2019) Number 2 : 359–367



http://thaijmath.in.cmu.ac.th ISSN 1686-0209

Generalization of Suzuki's Method on Partial Metric Spaces

Esmaeil Nazari

Department of Mathematics, Tafresh University, Tafresh, Iran e-mail: nazari.esmaeil@gmail.com

Abstract: We establish common fixed point theorems for two mappings satisfying nonlinear contractive conditions in partial metric space. The presented work generalize the Suzuki's method [1] for multivalued contractive in partial metric space. Our study also generalize some well- known results in the literature.

Keywords : multivalued mapping; common fixed point; Suzuki's method; partial metric space.

2010 Mathematics Subject Classification : 47H10; 47H09.

1 Introduction

The notion of partial metric is one of the most useful and interesting generalizations of the classical concept of metric. The partial metric spaces were introduced in 1994 by Matthews [2]. Based on this notion, Matthews [2, 3], Oltra and Valero [4], Ilic et al. [5, 6], Kadelburg et al. [7], Di Bari et al. [8], Hemant Kumar Nashine et al. [9] obtained some very interesting fixed point theorems for mappings satisfying different contractive conditions.

On the other hand, in order to generalize the well-known Banach contraction theorem in complete metric space many authors have introduced various type of contraction. In 2008, Suzuki introduced a new method [1] and then this method was extended by some authors [10–13].

Very recently this method extended to the partial metric space in [14]

The purpose of this work is to provide a new condition for two multivalued mappings which guarantees the existence of common fixed point.

Our results generalize some old results see for example [13,14]. In this way, we

Copyright $\odot\,$ 2019 by the Mathematical Association of Thailand. All rights reserved.

consider the set \mathcal{R} of continuous function $g: [0,1) \to [0,1)$ satisfying the following properties:

(a) $g(1, 1, 1, 2, 0) = g(1, 1, 1, 0, 2) = h \in (0, 1),$ (b) g is sub-homogeneous, that is, $g(\alpha x_1, \alpha x_2, \alpha x_3, \alpha x_4, \alpha x_5) < \alpha g(x_1, x_2, x_3, x_4 x_5)$ for all $\alpha \ge 0$ and all $(x_1, x_2, x_3, x_4, x_5) \in [0, 1)^5,$ (c) If $x_i, y_i \in [0, 1)$ and $x_i < y_i$ for i = 1, 2, 3, 4, then $g(x_1, x_2, x_3, x_4, 0) < g(y_1, y_2, y_3, y_4, 0)$ and $g(x_1, x_2, x_3, 0, x_4) < g(y_1, y_2, y_3, 0, y_4).$

We appeal the following result in the sequel.

Proposition 1.1. [15] If $g \in \mathcal{R}$ and $u, v \in [0, 1)$ are such that

 $u \leq \max\{g(v,v,u,v+u,0), g(v,v,u,0,v+u), g(v,u,v,v+u,0), g(v,u,v,0,v+u)\},$

then $u \leq hv$.

2 Preliminaries

Definition 2.1. [2] A partial metric on a nonempty set X is a mapping p: $X \times X \to \mathbb{R}^+$ such that for all $x, y, z \in X$ the following conditions are satisfied: (i) $x = y \Leftrightarrow p(x, x) = p(x, y) = p(y, y)$, (ii) $p(x, x) \leq p(x, y)$, (iii) p(x, y) = p(y, x), (iv) $p(x, y) \leq p(x, z) + p(z, y) - p(z, z)$.

A partial metric space is a pair (X, p) such that X is a nonempty set and p is a partial metric on X. Each partial metric p on X generates a T_0 topology τ_p on X which has as a base, the family of open p-balls $\{B_p(x, \epsilon); x \in X, \epsilon > 0\}$, where

$$B_p(x,\epsilon) = \{y \in X : p(x,y) < p(x,x) + \epsilon\}$$

for all $x \in X$ and $\epsilon > 0$.

If p is a partial metric on X, then the mapping $d_p: X \times X \to \mathbb{R}^+$ given by

$$d_p(x,y) = 2p(x,y) - p(x,x) - p(y,y),$$

is a metric on X.

Definition 2.2. [3,16] Let (X, p) be a partial metric space. Then a sequence $\{x_n\}$ in X is called

(i) convergent if there exists a point $x \in X$ such that $p(x, x) = \lim_{n \to \infty} p(x_n, x)$, (ii) Cauchy sequence if there exists (and is finite) $\lim_{n,m\to\infty} p(x_n, x_m)$.

Definition 2.3. [3,16] A partial metric space (X, p) is said to be complete if every Cauchy sequence $\{x_n\}$ in X converges, with respect to τ_p , to a point $x \in X$ such that $p(x, x) = \lim_{n,m\to\infty} p(x_n, x_m)$.

360

Generalization of Suzuki's Method on Partial Metric Spaces

Lemma 2.4. [3,16] Let (X, p) be a partial metric space. Then (i) $\{x_n\}$ is a Cauchy sequence in (X, p) if and only if it is a Cauchy sequence in the metric space (X, d_p) , (ii) (X, p) is complete if and only if the metric space (X, d_p) is complete. Furthermore, $\lim_{n\to\infty} d_p(x_n, x) = 0$ if and only if $p(x, x) = \lim_{n\to\infty} p(x_n, x) = \lim_{n\to\infty} p(x_n, x_m)$.

Let $CB^p(X)$ be a family of all nonempty, closed and bounded subsets of the partial metric space (Xp). Note that closedness is taken from (X, τ_p) (τ_p is the topology induced by p) and boundedness is given as follows: A, is a bounded subset in (X, p) if there exist $x_0 \in X$ and $M \ge 0$ such that for all $a \in A$, we have $a \in B_p(x_0, M)$, that is, $p(x_0, a) < p(a, a) + M$. For $A, B \in CB^p(X)$ and $x \in X$, we defined

$$p(x, A) = \inf \{ p(x, y) : y \in A \},$$

$$\delta_p(A, B) = \sup \{ p(a, B) : a \in A \},$$

$$\delta_p(B, A) = \sup \{ p(A, b) : b \in B \},$$

and

$$H_p(A,B) = \max\{\delta_p(A,B), \delta_p(B,A)\}.$$

It is immediate to check that p(x, A) = 0 implies that $d_p(x, A) = 0$, where $d_p(x, A) = \inf\{d_p(x, a) : a \in A\}$.

Remark 2.5. [17] Let (X, p) be a partial metric space and A be any nonempty set in (X, p), then $a \in A$ if and only if p(a, A) = p(a, a), where A denotes the closure of A with respect to the partial metric p. Note that A is closed in (X, p) if and only if $A = \overline{A}$.

Proposition 2.6. [18] Let (X, p) be a partial metric space. For any $A, B, C \in CB^{p}(X)$, we have the following: (i) $\delta_{p}(A, A) = \sup\{p(a, a) : a \in A\},$ (ii) $\delta_{p}(A, A) \leq \delta_{p}(A, B),$ (iii) $\delta_{p}(A, B) = 0 \Leftrightarrow A \subseteq B,$ (iv) $\delta_{p}(A, B) \leq \delta_{p}(A, C) + \delta_{p}(C, B) - \inf_{c \in C} p(c, c).$

Proposition 2.7. [18] Let (X, p) be a partial metric space. For all $A, B, C \in CB^p(X)$, we have (h1) $H_p(A, A) \leq H_p(A, B)$, (h2) $H_p(A, B) = H_p(B, A)$, (h3) $H_p(A, B) \leq H_p(A, C) + H_p(C, B) - \inf_{c \in C} p(c, c)$, (h4) $H_p(A, B) = 0 \Leftrightarrow A = B$.

The mapping $H_p: CB^p(X) \times CB^p(X) \to [0, \infty)$, is called the partial Hausdorff metric induced by p. It is easy to show that any Hausdorff metric is a partial Hausdorff metric. The converse is not true see Example 2.6 in [18].

3 Main Results

Now, we give the following result about common fixed points of two multivalued mappings.

Theorem 3.1. Let X denote a complete partial metric space and $T, S : X \to CB^p(X)$ two multivalued mappings. Suppose that there exits $\alpha \in (0,1)$ and $g \in \mathcal{R}$ such that $\alpha(h+1) < 1$ and $\alpha p(x, Tx) \leq p(x, y)$ or $\alpha p(y, Sy) \leq p(x, y)$ implies

$$H_p(Tx, Sy) \le g(p(x, y), p(x, Tx), p(y, Sy), p(x, Sy) - p(x, x), p(y, Tx) - p(y, y)),$$

for all $x, y \in X$. Then F(T) = F(S) and F(T) is nonempty.

Proof. Let x_0 be a arbitrary point in X and 1 > r > h. choose $x_1 \in Tx_0$ such that $\alpha p(x_0, Tx_0) \leq p(x_0, x_1)$. Then, we have

$$p(x_1, Sx_1) \le H_p(Tx_0, Sx_1)$$

$$\le g(p(x_0, x_1), p(x_0, Tx_0), p(x_1, Sx_1), p(x_0, Sx_1) - p(x_0, x_0),$$

$$p(x_1, Tx_0) - p(x_1, x_1))$$

$$\le g(p(x_0, x_1), p(x_0, x_1), p(x_1, Sx_1), p(x_0, x_1) + p(x_1, Sx_1), 0).$$

By using Proposition 1.1, we have

$$p(x_1, Sx_1) \le hp(x_0, x_1) < rp(x_0, x_1).$$

Now we choose a number μ such that $\inf_{y \in Sx_1} p(x_1, y) = p(x_1, Sx_1) < \mu < rp(x_0, x_1)$. Thus, there exists $x_2 \in Sx_1$ such that $p(x_1, x_2) < \mu < rp(x_0, x_1)$. Since $\alpha p(x_1, Sx_1) < p(x_1, x_2)$, we get,

$$p(x_2, Tx_2) \le H_p(Tx_2, Sx_1)$$

$$\le g(p(x_1, x_2), p(x_2, Tx_2), p(x_1, Sx_1), p(x_2, Sx_1) - p(x_2, x_2),$$

$$p(x_1, Tx_2) - p(x_1, x_1))$$

$$\le g(p(x_1, x_2), p(x_2, Tx_2), p(x_1, x_2), 0, p(x_1, x_2) + p(x_2, Tx_2)).$$

By using Proposition 1.1, we have

$$p(x_2, Tx_2) \le hp(x_1, x_2) < rp(x_1, x_2).$$

Now by using a similar method, we can find $x_3 \in Tx_2$ such that

$$p(x_2, x_3) \le rp(x_1, x_2) \le r^2 p(x_0, x_1)$$

Continuing this process, we can find a sequence $\{x_n\}$ in X such that $x_{2n-1} \in Tx_{2n-2}, x_{2n} \in Sx_{2n-1}$, and we have, (i) $p(x_n, x_{n+1}) < r^n p(x_0, x_1)$, (ii) $p(x_{2n}, Tx_{2n}) \leq hp(x_{2n-1}, x_{2n})$ and $p(x_{2n-1}, Sx_{2n-1}) \leq hp(x_{2n-2}, x_{2n-1})$. If $x_n = x_m$ for some $m \geq 1$, then T and S have a common fixed point. Suppose that $x_n \neq x_{n+1}$ for all $n \ge 1$. By using (i), we show that $\{x_n\}$ is a cauchy sequence. Obviously we have,

$$p(x_n, x_{n+m}) \le p(x_n, x_{n+1}) + p(x_{n+1}, x_{n+2}) + \dots + p(x_{n+m-1}, x_{n+m})$$

$$\le r^n p(x_0, x_1) + r^{n+1} p(x_0, x_1) + \dots + r^{n+m-1} p(x_0, x_1)$$

$$\le (r^n + r^{n+1} + \dots + r^{n+m-1}) p(x_0, x_1)$$

$$\frac{r^n}{1 - r_n} p(x_0, x_1) \to 0.$$

By the definition of d_p , we get,

$$d_p(x_n, x_{n+m}) \le 2p(x_n, x_{n+m}) \to 0,$$

as $n \to \infty$, which implies that $\{x_n\}$ is a Cauchy sequence in (X, d_p) . Since (X, p) is complete, hence (X, d_p) is complete, so we have $\lim_{n\to\infty} d_p(x_n, x) = 0$, for some $x \in X$. Now by Lemma 2.4 we get

$$p(x,x) = \lim_{n \to \infty} p(x_n, x) = \lim_{n, m \to \infty} p(x_n, x_m) = 0.$$

Now we claim that for each $n \geq 1$ on of the relation $\alpha p(x_{2n}, Tx_{2n}) \leq p(x_{2n}, x)$ and $\alpha p(x_{2n+1}, Sx_{2n+1}) \leq p(x_{2n+1}, x)$ hold. If $\alpha p(x_{2n}, Tx_{2n}) > p(x_{2n}, x)$ and $\alpha p(x_{2n+1}, Sx_{2n+1}) > p(x_{2n+1}, x)$ for some $n \geq 1$, then we obtain

$$p(x_{2n}, x_{2n+1}) \leq p(x_{2n}, x) + p(x, x_{2n+1}) - p(x, x)$$

$$\leq p(x_{2n}, x) + p(x, x_{2n+1})$$

$$< \alpha p(x_{2n}, Tx_{2n}) + \alpha p(x_{2n+1}, Sx_{2n+1})$$

$$\leq \alpha p(x_{2n}, x_{2n+1}) + \alpha h p(x_{2n}, x_{2n+1}).$$

Thus, $\alpha(1+h) > 1$, which is a contradiction. Therefore our claim is proved. Now by using the assumption for each $n \ge 1$ either

$$H_p(Tx_{2n}, Sx) \le g(p(x_{2n}, x), p(x_{2n}, Tx_{2n}), p(x, Sx), p(x_{2n}, Sx) - p(x_{2n}, x_{2n}), p(x, Tx_{2n}) - p(x, x)),$$

or

$$H_p(Tx_{2n+1}, Sx) \le g(p(x_{2n+1}, x), p(x_{2n+1}, Tx_{2n+1}), p(x, Sx), p(x, Tx_{2n+1}) - p(x, x)), p(x_{2n+1}, Sx) - p(x_{2n+1}, x_{2n+1})),$$

hold, Therefore, we have one of the following cases: (i) In first case we have

$$p(x_{2n+1}, Sx) \le H_p(Tx_{2n}, Sx) \le g(p(x_{2n}, x), p(x_{2n}, Tx_{2n}), p(x, Sx), p(x, Tx_{2n}) - p(x, x), p(x_{2n}, Sx) - p(x_{2n}, x_{2n})),$$

for all $n \in \mathbb{N}$. Therefore we have

$$p(x, Sx) \leq p(x, x_{2n+1}) + p(x_{2n+1}, Sx) - p(x_{2n+1}, x_{2n+1})$$

$$\leq p(x, x_{2n+1}) + g(p(x_{2n}, x), p(x_{2n}, Tx_{2n}), p(x, Sx), p(x, Tx_{2n}) - p(x, x),$$

$$p(x_{2n}, Sx) - p(x_{2n}, x_{2n}))$$

$$\leq p(x, x_{2n+1}) + g(p(x_{2n}, x), p(x_{2n}, x_{2n+1}), p(x, Sx), p(x, x_{2n+1}) - p(x, x),$$

$$p(x_{2n}, x) + p(x, Sx) - p(x_{2n}, x_{2n})),$$

for all $n \in \mathbb{N}$. Since g is continuous letting $n \to \infty$ we obtain

$$p(x, Sx) \le p(x, x) + g(p(x, x), p(x, x), p(x, Sx), p(x, x) - p(x, x), p(x, x) + p(x, Sx) - p(x, x)) = g(0, 0, p(x, Sx), 0, p(x, Sx)).$$

Now by using Proposition 1.1 we have p(x, Sx) = 0 and so $x \in Sx$. (ii) In the second case we have,

$$p(Tx, x_{2n+2}) \le H_p(Tx, Sx_{2n+1}) \le g(p(x, x_{2n+1}), p(x, Tx), p(x_{2n+1}, Sx_{2n+1}))$$

, $p(x_{2n+1}, Tx) - p(x_{2n+1}, x_{2n+1}), p(x, Sx_{2n+1}) - p(x, x)),$

for all $n \in \mathbb{N}$. Therefore,

$$\begin{aligned} p(x,Tx) &\leq p(x,x_{2n+2}) + p(x_{2n+2},Tx) - p(x_{2n+2},x_{2n+2}) \\ &\leq p(x,x_{2n+2}) + g(p(x,x_{2n+1}),p(x,Tx),p(x_{2n+1},Sx_{2n+1}),p(x_{2n+1},Tx)) \\ &- p(x_{2n+1},x_{2n+1}),p(x,Sx_{2n+1}) - p(x,x)) \\ &\leq p(x,x_{2n+2}) + g(p(x,x_{2n+1}),p(x,Tx),p(x_{2n+1},x_{2n+2}),p(x_{2n+1},x)) \\ &+ p(x,Tx) - p(x,x),p(x,x_{2n+2}) - p(x,x)), \end{aligned}$$

for all $n \in \mathbb{N}$. Since g is continuous letting $n \to \infty$ we obtain

$$p(x, Tx) \le g(0, p(x, Tx), 0, p(x, Tx), 0).$$

Now by using Proposition 1.1 we have p(x, Tx) = 0 and so $x \in Tx$. Therefore in all cases we have F(T) is non-empty.

Next we show that F(T) = F(S). Let $x \in Tx$, then $\alpha d(x, Tx) \leq d(x, x)$, therefore we have,

$$p(x, Sx) \le H_p(Tx, Sx) \le g(p(x, x), p(x, Tx), p(x, Sx), p(x, Sx) - p(x, x), p(x, Tx) - p(x, x)) \le g(p(x, x), p(x, x), p(x, Sx), p(x, x) + p(x, Sx), 0).$$

Now by using Proposition 1.1 we have $p(x, Sx) \leq hp(x, Sx)$. This implies that p(x, Sx) = 0 and so $x \in Sx$. Thus $F(T) \subseteq F(S)$. Similarly we can show that $F(S) \subseteq F(T)$. This completes the proof.

Generalization of Suzuki's Method on Partial Metric Spaces

The following result is a consequence of Theorem 3.1.

Theorem 3.2. Let X denote a complete partial metric space and $T : X \to CB^p(X)$ be a multivalued mapping. Suppose that there exits $\alpha \in (0,1)$ and $g \in \mathcal{R}$ with h = g(1,1,1,2,0) such that $\alpha(h+1) \leq 1$ and $\alpha p(x,Tx) \leq p(x,y)$ implies

 $H_p(Tx, Ty) \le g(p(x, y), p(x, Tx), p(y, Ty), p(x, Ty) - p(x, x), p(y, Tx) - p(y, y)),$

for all $x, y \in X$. Then T has a fixed point.

Theorem 3.3. [14] Define a strictly decreasing function θ from [0,1) onto $(\frac{1}{2},1]$ by $\theta(r) = \frac{1}{1+r}$. Let (X,p) be a complete partial metric space and $T : X \to CB^p(X)$ be a multivalued mapping. Assume that there exists $r \in [0,1)$ such that $\theta(r)p(x,Tx) \leq p(x,y)$ implies $H_p(Tx,Ty) \leq rp(x,y)$ for all $x, y \in X$. Then T has a fixed point.

Proof. Define $g \in \mathcal{R}$ by $g(x_1, x_2, x_3, x_4, x_5) = rx_1$. put $\alpha = \theta(r)$. Since h = r and $\alpha(1+h) \leq 1$, by using Theorem 3.2, T has a fixed point.

Theorem 3.4. Let X be a complete partial metric space and $T: X \to CB^p(X)$ be a multivalued mapping. Assume that there exist $a, b, c \in [0, 1)$ such that a+b+c < 1and $\frac{1-b-c}{1+a}p(x, Tx) \leq p(x, y)$ implies $H_p(Tx, Ty) \leq ap(x, y) + bp(x, Tx) + cp(y, Ty)$ for all $x, y \in X$. Then T has a fixed point.

Proof. Define $g \in \mathcal{R}$ by $g(x_1, x_2, x_3, x_4, x_5) = ax_1 + bx_2 + cx_3$. Put $\alpha = \frac{1-b-c}{1+a}$. Since h = a+b+c and $\alpha(1+h) \leq 1$, by using Theorem 3.2, T has a fixed point. \Box

Theorem 3.5. Let X be a complete metric space and $T: X \to CB^P(X)$ be a multivalued mapping. Assume that there exists $r \in [2^{\frac{-1}{1}}, 1)$ such that $\theta(r)p(x, Tx) \leq p(x, y)$ implies $H(Tx, Ty) \leq r \max\{p(x, y), p(x, Tx), p(y, Ty)\}$ for all $x, y \in X$. Then T has a fixed point.

Proof. Define $g \in \mathcal{R}$ by $g(x_1, x_2, x_3, x_4, x_5) = r \max\{x_1, x_2, x_3\}$. Put $\alpha = \theta(r)$. Since h = r and $\alpha(1 + h) \leq 1$, by using Theorem 3.2, T has a fixed point. \Box

Theorem 3.6. Let X be a complete partial metric space and $T: X \to CB^p(X)$ be a multivalued mapping. Assume that there exist $\beta, \gamma \in [0,1)$ such that $\frac{1}{2\beta+\gamma+1}p(x,Tx) \leq p(x,y)$ implies $H_p(Tx,Ty) \leq \gamma p(x,y) + \beta p(x,Tx) + \beta p(y,Ty)$ for all $x, y \in X$. Then T has a fixed point.

Proof. Define $g \in \mathcal{R}$ by $g(x_1, x_2, x_3, x_4, x_5) = \gamma x_1 + \beta x_2 + \beta x_3$. put $\alpha = \frac{1}{2\beta + \gamma + 1}$. Since $h = 2\beta + 1$ and $\alpha(1+h) \leq 1$, by using Theorem 3.2, T has a fixed point. \Box

Theorem 3.7. Let X be a complete partial metric space and $T: X \to CB^p(X)$ be a multivalued mapping. Assume that there exist $r \in [0,1)$, and $L \in [0,1)$ such that $\frac{1}{1+r+L}p(x,Tx) \leq p(x,y)$ implies

 $H_p(Tx, Ty) \le rp(x, y) + L\min\{p(x, Ty) - p(x, x), p(y, Tx) - p(y, y)\},\$

for all $x, y \in X$. Then T has a fixed point.

Proof. Define $g \in \mathcal{R}$ by $g(x_1, x_2, x_3, x_4, x_5) = rx_1 + L \min\{x_4, x_5\}$. Put $\alpha = \frac{1}{1+r+L}$. Since h = r and $\alpha(1+h) \leq 1$, by using Theorem 3.2, T has a fixed point.

References

- T. Suzuki, A generalized Banach contraction principle that characterized metric completeness, Proc. Amer. Math. Soc. 136 (2008) 1861-1869.
- [2] S.G. Matthews, Partial metric topology. In: Proceedings of the 8th Summer Conference on General Topology and Applications, Ann. New York Acad. Sci. 729 (1994) 183-197.
- [3] S.G. Matthews, Partial metric topology, Proc. 8th Summer Conference on General Topology and Applications, Ann New York Acad Sci. 728 (1994) 183-197.
- [4] S. Oltra, O. Valero, Banachs fixed point theorem for partial metric spaces, Rend Istit Math Univ Trieste 34 (2004) 17-26.
- [5] D. Ilic, V. Pavlovic, V. Rakocevic, Some new extensions of Banachs contractions principle in partial metric spaces, Appl Math Lett 24 (2011) 1326-1330.
- [6] D. Ilic, V. Pavlovic, V. Rakocevic, Extensions of Zamfirescu theorem to partial metric spaces, Math Comput Model 55 (2012) 801-809.
- [7] Z. Kadelburg, H.K. Nashine, S. Radenovic, Fixed point results under various contractive conditions in partial metric spaces, RASCAM 107 (2) (2013) 241-256.
- [8] C. Di Bari, M. Milojevic, S. Radenovic, P. Vetro Common fixed points for self-mappings on partial metric spaces, Fixed Point Theory Appl 2012 (2012) 140.
- [9] H.K. Nashine, Z. Kadelburg, S. Radenovic, J.K. Kim, Fixed point theorems under Hardy Rogers weak contractive conditions on 0-complete ordered partial metric spaces, Fixed Point Theory Appl. 2012 (2012) doi:10.1186/1687-1812- 2012-180.
- [10] S. Dhompongsa, H. Yingtaweesittikul, Fixed point for multivalued mappings and the metric completeness, Fixed point theory and Applications (2009) doi:10.1155/2009/972395.
- [11] M. Kikkawa, T. Suzuki, Some similarity between contractions and Kannan Mappings, Fixed Point Theory and Applications (2008) doi:10.1155/2008/649749.
- [12] G. Mot, A. Petrusel, Fixed point theory for a new type of contractive multivalued operators, Nonlinear Analysis 70 (2009) 3371-3377.

Generalization of Suzuki's Method on Partial Metric Spaces

- [13] Sh. Rezapour, S.M.A. Aleomraninejad, N. Shahzad, On fixed point generalizations of Suzukis method, Appl. Math. Lett. (2011) doi:10.1016/j.aml.2010.12.025.
- [14] J. Ahmad, C. Di Bari, Y.J. Cho, M. Arshad, Some fixed point results for multi-valued mappings in partial metric spaces, Fixed point theory and Applications, 2013 (2013) doi:10.1186/1687-1812-2013-175.
- [15] A. Constantin, A random fixed point theorem for multifunctions, Stochastic Analysis and Applications 12 (1) (1994) 65-73.
- [16] H.K. Nashine, Z. Kadelburg, S. Radenovic, Common fixed point theorems for weakly isotone increasing mappings in ordered partial metric spaces, Math Comput Model 57 (2013) 2355-2365.
- [17] I. Altun, F. Sola, H. Simsek, Generalized contractions on partial metric spaces, Topol. Appl. 157 (2010) 2778-2785.
- [18] H. Aydi, M. Abbas, C. Vetro, Partial Hausdorff metric and Nadlers fixed point theorem on partial metric spaces, Topol. Appl. 159 (2012) 3234-3242.

(Received 14 December 2014) (Accepted 10 June 2015)

 $\mathbf{T}\mathrm{HAI}\ \mathbf{J.}\ \mathbf{M}\mathrm{ATH}.$ Online @ http://thaijmath.in.cmu.ac.th